Hifx e B T



TR ER

DN

gk

FREHEA - TERTR A B TR HEXSy B -
THEXS  BRGR
T Fi i | Al Hi % AL o = fii )
HiA g B T = 1
B B 22 T ALEE = 1
L TE AL ER t=30cm m2 1, 840
kAt v AL R t 66. 3




I BRIRZE e ALEE T

LR R

%
Al #H HAL | BRZELFE T A F i
2 TE AL t=30cm m2 1,842.9 1,842.9
B kAt v AL R t 66. 3 66. 3




g B g et A SR
B B BIREEEE T
Tuy o R ENELT

X 9
Mo Bl e
K t=30cm
WA BE e (m) 1 (m) ST (m) H il (n2) o

NO. 0 — 14. 60 — —
BC. 1 18.3 5. 00 9. 800 179. 3
NO. 1 1.7 5. 00 5. 000 8.5
SP. 1 18.5 4. 20 4. 600 85. 1
NO. 2 1.5 4. 20 4. 200 6.3
EC. 1 18.7 2.70 3. 450 64. 5
NO. 3 1.3 2.70 2. 700 3.5
NO. 4 20. 0 3. 20 2. 950 59. 0
NO. 5 20. 0 4. 90 4. 050 81.0
NO. 6 20. 0 5. 00 4. 950 99.0
NO. 7 20.0 5.00 5. 000 100. 0
NO. 8 20.0 5.00 5. 000 100. 0
NO. 9 20.0 5. 00 5. 000 100. 0
NO. 10 20.0 5. 00 5. 000 100. 0
BC. 2 3.6 5. 00 5. 000 18.0
NO. 11 16. 4 5. 00 5. 000 82.0
SP. 2 8.9 5. 00 5. 000 44.5
NO. 12 11.1 5. 00 5. 000 55.5
EC. 2 14. 2 5. 00 5. 000 71.0
NO. 13 5.8 5. 00 5. 000 29.0
NO. 14 20.0 5. 00 5. 000 100. 0
NO. 15 20.0 5. 00 5. 000 100. 0
NO. 16 20.0 5. 00 5. 000 100. 0
NO. 17 20.0 5. 00 5. 000 100. 0
EP 9.4 24. 00 14. 500 136. 3

7N E 349. 4 1,822.5

& 2 349. 4 1,822.5
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t=30cm
1. 7X12.0=20. 4
1822. 5+20. 4=1842. 9 1,842.9 m2
[E L AF SEEALPRV=1842. 9 X 0. 30=552. 9
kT (100kg/m3) W=552.9X 100X 1.2 (E[F=) 1000=66. 3
AL NR 66.3 t




